

ಕಾರ್ತಿ ಪ್ರಕಟಿಸಲಾದುದು ಪ್ರಕಟಿಸಲಾದುದು

1754

PÌEÁÕI PÀgÁda¥Ìviè UÄgĪÁgÀ 11, ಜೂನ್, 2020

"ÁUÀ4J

GOVERNMENT OF KARNATAKA

No. RD 42SSM2019

Karnataka Government Secretariat, M.S. Building,

Bengaluru, dt: 11.12.2019

NOTIFICATION

In exercise of the powers conferred under section 5(2) of the Waqf Act, 1995, as amended during 2013 (27 of 2013) the Government of Karnataka, Minority Welfare Department has forwarded the proposals received from the Deputy Commissioner, Addl. Commissioner of Survey, Chikkamagaluru District, Chikkamagaluruto the Board in letter No.wakf/CR/06/19-20, dated:29.07.2019. It is verified and approved by the Administrator, Karnataka State Board of Auqaf on11-09-2019. The Govt. of Karnataka is hereby notify that the following immovable properties are Waqf properties.

Name of the District: CHIKKAMAGALURU

Name of the Taluk: KADUR

				Locat	ion & Details of	Waqf Property.							Administr	Sche	
Sl. No.	Name & Address of the Institution	Sunni or Shia	City/ Town/ Village	Sy. No./ CTS No. /Khata No.	Extent (Acre-Gunta / Sq. Ft.)	Boundaries	Value Rs in Lakh s	Year of creation of Waqf/ C.R. No. and Date	Name and Addres s of Waqif	Benefici aries if any	Object of Waqf	Gross Annual Income of Waqf	ation by Custom/ Hereditar y or Settled by Court or Hereditar y	me appro ved by Boar d	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16
1.	Noorul Islam Arabic Madrasa and Noorani Masjid, C.P.C. Colony, Kadur Town and Taluk.	Sunni	Kadur Town.	Asst. No. 6090/ 962/1, Site No. 105 and Asst. No. 6092/96 2/1, Site No. 107.	40' X 20' = 800 Sq. Ft.	North: Private Property. South: Private Property. East: Railway Station Road. West: House of Majeed.	12.00	KTW/REG/ 5/CMR/ 1988-89, Dtd: 24-04-1989	Muslim Jamath	Muslim Jamath	Masjid and Madarasa	45,000/-	By custom	-YES	Khata Effected
	Addl. Properties			Sy. No. 77	2A-06G	North:Halla. South: Private Property. East: Houses. West: Private Property.	65.00	KTW/REG/ 2/CMR/ 2002-03, Dtd: 13-12-2002.	Waqf By User Govt. Land		Khabrastan				As Per C.R. 2A- 22G, As Per Sketch and Possession
2.	LababeenSunnat hJamath Masjid, Station Road,	Sunni	Kadur Town.			North: Govt. Nala (Channal). South: Sy. No. 450/2. East: Sy. No. 452/453.		KTW/REG/	V.K. Abdul Rahman S/o.	Muslim Jamath			By custom	-YES	2A-06G Less:- 0A-16G

_	Kadur Town and			Cv. No.		West: Sy. No. 449.		2/CMR/	V.K.				I		
	Taluk.			Sy. No. 450/1	1A-15G	west: Sy. No. 449.		2/CMR/ 1998-99,	Abdul						
							50.00	P. I	Moham med,		Eidgah				771
								Dtd: 03-12-2004	Kadur						Khata Effected
									Town.						
3.	Noorani Masjid, H.D. DevegowdaExte nsion, 31 Acre, Kadur Town and Taluk.	Sunni	Kadur Town.	Asst. No. 8652	(38' X 37') + (10' X 4½') = 1,451 Sq. Ft.	North: Property belonging to Shri. Bahadur. South: Municipality Road. East: Property belonging to Shri. Ravi. West: Property belonging to Shri. Nabi Sab.	12.00	KTW/REG/ 4/CMR/ 2005-06, Dtd: 21-12-2005	Muslim Jamath	Muslim Jamath	Masjid	89,500/-	By custom	-YES	As Per CR = 37' X 37 = 1,369 Sq. Ft. As Per Sketch and Possession 1,451 Sq. Ft. Excess = 82 Sq. Ft. Khata Effected
4.	Masjid-e-Aqsa and Madarasa-e- Arabia Talimul Quran, (Kote Masjid), Kadur Town and Taluk.	Sunni	Kadur Town.	Asst. No. 187/185	40' X 26' = 1,040 Sq. Ft.	North: Property belonging to H.V. Manjumath. South: Municipality Road. East: Property belonging to Masjid-e-Aqsa. West: Property belonging to Gowrapur Basheer Sab.	16.00	KTW/REG/ 6/CMR/ 2004-05, Dtd: 01-08-2005.	Musli m Jamath	Muslim Jamath	Masjid and Madarasa	48,700/-	By custom	Deem ed Appro ved	Khata Effected
5.	Masjid-e-Bilal and Madarasa-e- Deeniyat, Eidgah Mohalla, V.K. Colony, Yemmedoddi Road, Kadur Town and Taluk.	Sunni	Kadur Town.	M. Asst. No. 447/2	40' X 80' = 3,200 Sq. Ft.	North: Masjid Property and Private Property. South:MahilaSamaja Property and Private Property. East: Park and Private Property. West:Nanjundappa and Lohiteshwara's Property.	16.00	KBW/REG/ 1/CMR/ 2009-10, Dtd: 12-07-2010	Musli m Jamath	Muslim Jamath	Masjid and Madarasa	64,523/-	By custom	-YES	Khata Effected
6.	Makka Masjid, K.H. MudiyappaBada vane, Kadur Town and Taluk.	Sunni	Kadur Town.	Asst. No. 8952	$ \frac{65' + 50'}{2} $ X $ \frac{35' + 62'}{2} $ = 2,788.75 Sq. Ft	North: Ashraya Site South: Road East: Road West: Property belonging to Basheer Sab.	16.00	KBW/REG/ 2/CMR/ 2009-10, Dtd: 19-07-2010	Musli m Jamath	Muslim Jamath	Masjid	17,700/-	By custom	Deem ed Appro ved	As Per CR = 2,723.211 Sq. Ft. As Per Sketch and Possession 2,788.75 Sq. Ft. Excess = 65.53 Sq. Ft. Khata Effected

	Addl. Properties belonging to		Birur	Asst. No. 523/494	23' X 80' =1,840 Sq. Ft.	North: Veerabhadreshwara Temple Road. South: Conservancy Road. East: Asst. No. 522/493. West: Parvatharaj Property.	9.20	KBW/REG/							Khata
7.	Jamia Masjid, Birur Town, Kadur Taluk.	Sunni	Town.	Asst. No. 522/493	23' X 87' = 2,001 Sq. Ft.	North: Veerabhadreshwara Temple Road. South: Conservancy Road. East: Abdul Rab's Property. West: Asst. No. 523/494.	10.00	2010-11, Dtd: 20-01-2011.	Musli m Jamath	Muslim Jamath	Tiled Houses		By custom	-YES	Effected
8.	Madeena Masjid AhleSunnthulJa mat.		Birur	Asst No. 2256 /2191	50' X 43' = 2,150 Sq. Ft.	North: Conservancy Road. South: Property belonging to Madeena Masjid. East: Municipality Road West:ChaddiMalayappa's Property.	42.00	KBW/REG/ 4/CMR/ 1998-99, Dtd: 02-02-1999	Muslim	Muslim					Khata
	Shanthi Nagar, Birur Town, Kadur Taluk.	Sunni	Town	Asst. No. 2261 /2196	50' X 43' = 2,150 Sq. Ft.	North: Property belonging to Madeena Masjid. South: Municipality Road East: Municipality Road West:ChaddiMalayappa's Property.		KBW/REG/ 4/CMR/ 2004-05, Dtd: 23-03-2005	Jamath	Jamath	Masjid	30,700/-	By custom	-YES	Effected
9.	Makka Masjid, Sunni, Ballary Camp, Birur Town, Kadur Taluk.	Sunni	Birur Town	PR. Asst. No. 3964/ 3839	20' X 55' = 1,100 Sq. Ft. 20' X 33' = 660 Sq. Ft. Total 1,760 Sq.ft.	North: Municipality Road. South: Municipality Road. East: Property of Basha Sab. West: Property of Municipal.	16.80	KTW/REG/ 2/CMR/ 2000-01 Dtd: 29-06-2001	Muslim Jamath	Muslim Jamath	Masjid	24,200/-	By custom	-YES	Khata Effected
10.	Muslim Khabrastan, Birur Town, Kadur Taluk.	Sunni	Birur Town	Sy. No. 127	8A-08G	North: Road. South:Mantapa's Land. East: Drainage. West: Jagadish Property.	80.00	KSBA/REG/ 15/CMR/ 2017-18, Dtd: 17-04-2018	Wakf By User Govt. Land.	Muslim Jamath	Khabrastan		By custom	-YES	Khata Effected

11.	Eidgah and Khabrastan, Birur Town, Kadur Taluk.	Sunni	Birur Town	Sy. No. 53	2A-02G	North: Private Industries. South:PatreRudramurthy. East: Road. West:PatreRudramurthy.	50.00	KSBA/REG/ 14/CMR/ 2017-18, Dtd: 21-05-2018	Wakf By User Govt. Land.	Muslim Jamath	Eidgah and Khabrastan		By custom	-YES -	Khata Effected
12.	Muslim Khabrastan, Annigere Village, Yagati, Hobli, Kadur Taluk.	Sunni	Anni gere	Sy. No. 191	2A- 0G	North: Sy. No. 101. South: Remaining Portion of Sy. No. 191. East: Sy. No. 103. West: Remaining Portion of Sy. No. 191.	2.00	KTW/REG/ 3/CMR/ 2003-04, Dtd: 08-01-2004.	Wakf By User Govt. Land.	Muslim Jamath	Khabrastan		By custom	Deem ed Appro ved	Khata Effected
13.	Jamia Masjid, Kallapura, Kadur Taluk.	Sunni	Kalla pura	Asst. No. 2.	$\frac{183' + 165'}{2}$ X $\frac{170' + 139'}{2}$ = 26,883 Sq. Ft.	North: Vacant Site (Jaaga). South: Kadur-Yagati PWD Road. East: Govt. Urdu School. West:Jabeeulla's House.	20.00	KTW/REG/ 6/CMR/ 2002-03, Dtd: 17-12-2002.	Musli m Jamath	Muslim Jamath	Masjid	90,000/-	By custom	-YES	As Per. CR 185' X 139' =25,715 Sq. Ft. As Per Sketch and Possession =26,883 Sq. Ft. Excess =1,168 Sq. Ft.
		Sum	Kuruba rahalli	Sy. No. 58	6A-02G	North: Sy. No. 34. South: Sy. No. 29 and Kallapura Village Boundary. East: Sy. No. 33. West: Sy. No. 35.	50.00	KTW/REG/ 7/CMR/ 2003-04, Dtd: 16-04-2004.			Land				Khata Effected
14.	Muslim Khabrastan as Addl. Property of Jamia Masjid,	Sunni	K'Bidar	Sy. No. 13	1A-07G	North: Sy. No. 15. South: Sy. No. 12. East: Sy. No. 01 Govt. Tank. West: Sy. No. 16.	3.50	KTW/REG/ 7/CMR/ 1989-90, Dtd: 07-06-1990.	Muslim	Muslim	Khabrastan		Ву	-YES	KhataEffecte d
	K'Bidare, Kadur Taluk.		е	Sy. No. 14	0A-09G	North: Sy. No. 01Govt. Tank. South: Sy. No. 01 Govt. Tank. East: Sy. No. 01 Govt. Tank. West: Sy. No. 15.	1.10	KTW/REG/ 8/CMR/ 1989-90, Dtd: 07-06-1990.	Jamath	Jamath	Khabrastan		custom	-	
	Addl. Properties of Jamia Masjid, Rangapura,			Sy. No. 104	3A-03G	North:Sy. No. 105. South:Sy. No. 101& 100. East: Sy. No. 26 West:Sy. No. 103.	9.00	KTW/REG/ 8/CMR/ 1988-89, Dtd: 30-11-1989.							
15.	Kadur Taluk.	Sunni	Ranga pura	Sy. No.		North: Sy. No. 134. South: Sy. No. 136/2									As per CR &

				136/1	0A-12G	East: Sy. No. 136/4. West: Sy. No. 135.	2.00	KTW/REG/	Muslim Jamath	Muslim Jamath	Coconut Garden		Ву	-YES	RTC 2A- 00G
				Sy. No. 113	02A-12G	North: Sy. No. 135 . South: Sy. No. 111. East: Sy. No. 138, 139&146. West: Remaining Portion of Sy. No. 113.	6.00	6/CMR/ 1989/90, Dtd: 21-03-1990					custom	-	As per sketch and enjoyment 2A-12G Excess 12G Khata Effected
16.	Jamia Masjid and Muslim Khabrastan,		Singat gere	Asst. No. 74.	70' X 60' = 4,200 Sq. Ft.	North: PWD Road. South: Site. No. 11. East:Panchayiti Road. West:Keresante Road.	4.00	KTW/REG/ 8/CMR/ 1987-88, Dtd: 15-12-1987.	Wakf By	Muslim	Masjid			Deem ed	Khata
	Singatgere, Kadur Taluk.	Sunni	Kalle Ninga na halli	Sy. No. 8	2A-0G	North: Kasavanahalli Gadi. South: Remaining Portion of Sy. No. 8. East: Property belonging to Sy. No. 7. West: Remaining Portion of Sy. No. 8.	6.00	KTW/REG/ 4/CMR/ 2015-16, Dtd: 27-01-2017	User Govt. Land.	Jamath	Khabrastan	27,000/-	By custom	appro ved	Effected
17.	Jumma Masjid &HazrathKaree mulla Sha Khadri Dargah, Chowlihiriyuru, Kadur Taluk.	Sunni	Chowli hiri yuru	Asst No. 298	196' X 175' =34,300 Sq. Ft.	North: Property belonging to Sri. Channamallappa, Chikkamalappa and Kodappa. South:Panchayiti Road. East: Property belonging to Sri. Kareem, Shafiulla, Veerappa and Rangappa West: Property belonging to KumbaraMalleshappa and PatnagereLingappa.	30.00	KTW/REG/ 2/CMR/ 1990-91, Dtd: 11-09-1990	Musli m Jamath	Muslim Jamath	Masjid and Dargah		By custom	Deem ed Appro ved	Khata Effected
18.	Jumma Masjid, Donneko ranahalli, Kadur Taluk.	Sunni	Donne korana halli	Asst. No. 9.	62.32' X 49.2' = 3,066 Sq. Ft.	North: Road. South: Hiduvalli Land. East: Conservancy Land. West: Survey No. 5 Rangappa's Land.	2.00	KBW/REG/ 5/CMR/ 1994-95, Dtd: 17-06-1995.	Muslim Jamath	Muslim Jamath	Masjid	35,000/-	By custom	Deem ed Appro ved	Khata Effected

19.	Masjid-e-Hannan and Muslim Khabrastan, Anwar Colony, Sanklapura, Kadur Taluk.	Sunni	Sankla pura	Sy. No. 25	2A-25 G	North: Sy. No. 25. South: Sy. No. 25. East: Sy. No. 25. West: Sy. No. 25 & 26.	8.00	KTW/REG/ 5/CMR/ 2003-04, Dtd: 16-04-2004.	Waqf By User Govt. Land.	Muslim Jamath	Masjid and Khabrastan	81,000/-	By	-YES	Khata Effected
				New. Sl. No. 01, Asst. No. 494.	51 ½' X 46 ½' = 2,394.75 Sq. Ft.	North: Anganwadi Building. South: Village Panchayat Road. East: Village Panchayat Road. West: Conservancy Road.	1.25	KTW/REG/ 3/CMR/ 1989-90, Dtd: 18-09-1989.			Masjid				
20.	Jumma Masjid, Yagati and Its allied Properties, Yagati,	Sunni	Yagati	Sy. No. 26.	4A-17G	North: Sy. No. 25. South: Sy. No. 40. East: Sy. No. 41 and 42. West: Sy. No. 27 and 35.	9.0	KTW/REG/ 3/CMR/ 2004-05,	Muslim Jamath	Muslim Jamath	Khabrastan	12,400/-	By custom	-YES	Khata Effected
	Kadur Taluk.			Sy. No. 41.	0A-28G	North: Sy. No. 42. South: Sy. No. 40. East: Sy. No. P.W.D Road. West: Sy. No. 26.	1.80	Dtd: 14-03-2005.			Eidgah				
			Tangali	Asst. No. 147	100' X 40' = 4,000 Sq. Ft.	North: Ramappa's Compound. South: Village Panchayath Road. East:Sitamma Ashraya House, Bilvapatremara and Katte. West:Shamshad Ameer Khan's House.	2.40	KTW/REG /5/CMR/ 1987-88, Dtd: 14-08-1987.	Muslim Jamath		Masjid				
21.	Jamia Masjid, Tangli and Its Addl. Properties, Kadur Taluk.	Sunni	Tungun	Sy. No. 69 Old Sy.No. 252 New	0A-33 G	North: Sy. No. 251. South: Sy. No. 253. East: Sy. No. 259. West: Sy. No. 250.	1.34	KTW/REG /3/CMR/ 1993-94, Dtd: 04-12-1993	Waqf By	Muslim Jamath	Khabrastan and Eidgah	81,000/-	By custom	-YES -	Khata Effected
			Kaduru halli	Sy. No. 86/1	3A-10G.	North:Puttamma, W/o. Late. T.C. Hanumantappa Land. South:Gangamma /Govindappa Land. East:Vasiulla/Kaleemulla Land West: K.S. Rajappa S/o. Chandrashekarappa Land.	8.40	KTW/REG/ 1/CMR/ 2006-07 Dtd: 06-10-2006.	User Govt. Land		Khabrastan				

						North: Abdul Khader,									
				Asst. No 170, Sy. No. 2.	120' X 30' = 3,600 Sq. Ft.	Khalandar Sab, Basha Sab and Zaitun Bi's Land. South: Rahim Sab, Babu Sab, Shafi Sab, Khalader Sab, Ummer Sab and Muneer Sab Houses. East:Panchayiti Road. West:Panchayiti Road.	3.60	KBW/REG/ 11/CMR/ 1999-2000, Dtd: 28-04-2000.	Muslim		Masjid				
22.	Jamia Masjid and Khabrastan, Kuppalu,	Sunni	Kuppal u	Sy. No. 114/5	0A-01G	North: Sy. No. 114/1. South: Sy. No. 114/1. East: Sy. No. 114/1. West: Sy. No. 115.	1.20	KBW/REG/ 4/CMR/	Jamath	Muslim Jamath		48,100/-	Ву	-YES	Khata Effected
	Kadur Taluk.			Sy. No. 33.	3A-20G	North: B.H. Road. South: Remaining Portion of Sy. No. 33. East: Remaining Portion of Sy. No. 33. West: Sy.No.113, 110 and 109.	5.50	2002-03, Dtd: 28-12-2002.	Waqf By User Govt. Land		Khabrastan		custom	-	
				Asst. No. 16.	93' X 41' = 3,813 Sq. Ft.	North: Site. No. 15 belonging to Masjid and Aralikatte. South: Smt. Shivamma's House. East: Village Panchayat Road. West: Site. No. 14 belonging to Masjid.	4.50	KTW/REG/ 5/CMR/ 1881-82, Dtd: 05-02-1982			Masjid				As Per CR. 8 0' X 60' 4,800 Sq. Ft. As Per Sketch and Possession =3,813 Sq. Ft. Less = 987 Sq. Ft.
	Jamia Masjid			Asst. No. 14	81' X <u>41'+ 42'</u> 2 = 3,361.5 Sq. Ft.	North: C.M. Parameshwarappa's Site. South:Shivamma and Thimmanna Site and House. East: Masjid. West:Basavarayappa's Site.	4.00				Masjid Site				
23.	and Its allied properties, Chikkadevanur, Kadur Taluk.	Sunni	Chikka devanu ru	Asst. No. 8.	30' X 24' = 720 Sq. Ft.	North:Basheer Saheb's House. South: Panchayat Road. East: Panchayat Road. West: Panchayat Property.	2.00	KSB A/REG/	Muslim Jamath	Muslim Jamath	Masjid Site	50,000/-	By custom	-YES	Khata Effected
	Addu Adda.			Asst. No. 15	50' X 22' = 1,100 Sq. Ft.	North: Subha Rao's House. South: Masjid Asst. No.16. East: Aralikatte. West: C.N. Parameshwarappa's Site.	2.50	15/CMR/ 2015-16, Dtd: 05-08-2019.			Anjuman				
				Asst. No. 385	50' X 60' = 3,000 Sq. Ft.	North:Eidgah Maidan, South: Panchayat Road, East: Anwer Sab Site, West: Panchayat Road (Kurubarahalli)	3.80				Eidgah				
						North: Sakharayapattana to									

				Sy. No. 87	0A-37G	Banavara Road. South: Thipe gondanahalli Boundary. East: Sy. No. 18. West: Sy. No. 19.	3.00				Khabratan				
24.	Hidayathul Islam Arabic Madrasa, Chikkadevanur, Kadur Taluk.	Sunni	Chikka devanu ru	Asst. No. 416/1	53' X 21' = 1,113 Sq. Ft.	North: Panchayath Property. South: Property of Timma Shetty. East: Road. West: Property of Gangadharappa.	1.70	KBW/REG/ 8/CMR/ 2006-07, Dtd: 17-07-2007	Muslim Jamath	Muslim Jamath	Madarasa		By custom	Deem ed Appro ved	Khata Effected
25.	Muslim Khabrastan as Addl. Property belongs to Jamia Masjid, Doddadevanur, Kadur Taluk.	Sunni	Deva nuru Kaval	Sy. No.	2A-0G	North: Remaining Portion of Sy. No. 2. South:Chikkamagaluru to Bavanar Road. East: Sy. No. 62 & 56. West: Veda River.	3.50	KTW/REG/ 9/CMR/ 1994-95, Dtd: 02-02-2000	Musli m Jamath	Muslim Jamath	Khabrastan		By custom	Deem ed Appro ved	Khata Effected
26.	Masjid-e-Tajiran, and Its allied Properties Sakharaya	Sunni	Sakha rayapa	Asst. No. 1087 Asst. No.	89' X 47' = 4,183 Sq. Ft. 23' X 42' = 966 Sq. Ft.	North: Sy. No. 1217. South: Panchayath Road. East:Mohammed Ismail House West: Asst. No. 1089. North: Sy. No. 1217. South: Panchayath Road. East: Asst. No. 1089.	15.00	KTW/REG/ 6/CMR/ 1987-88, Dtd: 29-08-1987	Muslim Jamath	Muslim	Masjid				As Per C.R. 130' X 40' =5,200 Sq. Ft. As Per Sketch and Possession 51,49 Sq. Ft. Less =
	pattana, Kadur Taluk.		ttana	1088 Sy. No. 644	1A-05G	West: Urdu School. North: Sy. No. 643 & 644. South: Govt. Channal. East: K.M. Road. West: Sy. No. 644 & 645.	50.0	KTW/REG/ 1/CMR/ 1991-92, Dtd: 04-01-1992	Waqf By User Govt. Land	Jamath	Eidgah and Khabrastan	2,50,000/-	By custom	-Yes-	See
27.	MasjidutTaqwa, Near Sante Market, Sakharaya	Sunni	Sakha rayapa ttana	Sl. No. 1431 Asst. No. 835/10	30' X 30' = 900 Sq. Ft.	North: Road South: Property of Abubakkar. East: Masjid- Property. West: Property of Abdur Rahman. North: Road	2.20	KBW/REG/ 44/CMR/ 2012-13, Dtd:	Muslim Jamath	Muslim Jamath	Masjid		By custom	-YES	Khata Effected
	pattana, Kadur Taluk.			Asst. No. 835/09	30' $\frac{X(33' + 25')}{2}$ = 870 Sq. Ft.	South: Property of Hameed. East: Kaluve. West: Masjid Property.	2.00	05-10-2012							

PìEÁði PàgÁda¥ivieUligiaaÁgia 11, കേನ್, 2020

	4.		2		
•	a	u	Δ	1	

	Additional			KT. No.		North: Temple		KBW/REG/						
	Property		Huli	606.	(20' + 18') X	(BramhaDevara Temple).		21/CMR/						
28	belonging to	Sunni	kere		33'	South: Panchayat Road.		2014-15,	Muslim	Muslim				Khata
	Jamia Masjid,			Asst.	2	East: Panchayat PWD Road	1.40		Jamath	Jamath	Complex	 By	-YES	Effected
	Hulikere,			No. 539.		West:Rahamthunnisa W/o.		Dtd:			_	custom	-	
	Kadur Taluk.				= 627 Sq. Ft.	AzeezullaBaig's House.		28-03-2015						

Total No. of Institutions : 28 Total No. of properties : 50

Total extent in A-G : 50A-12G

Total extent in Sq.ft. : 1,18,278 Sq.ft.

By Order and in the Name of the Governor of Karnataka

(C.PUTTANANJAIAH), Under Secretary to Government, Revenue Department (SSLR)

PR-191